ADDING AND SUBTRACTING UP TO 1 000 000 WITH CARRYING (H 'N;%eir’)

TEST 3

Time: Score:

0 ATATI8 — 162574 =

2 407121 4+ 191323 =

3 315552 + 424407 =

9 847002 + 32943 =

5 821962 — 20961 =

6 377284 — 203232 =

0303561 + 513338 =

9 233639 — 120638 =

9 670799 + 12100 =

100 855337 — 612003 =

119067949 — 9062407 =

12) 1119754 + 6800144 =

1) 613960 + 32027 =

1739569 — 539539 =

15 751010 + 232967 =

Mathematics: Mixed - Level 8 - Horizontal - Set 5
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503560 + 230018 =

821510 + 77453 =

684536 — 421135 =

915139 — 701004 =

796181 — 113020 =

588596 — 34426 =

292823 — 260001 =

5089332 — 3087132 =

5997521 — 921501 =

630204 + 144752 =

245290 + 544207 =

829545 — 802334 =

979807 — 567707 =

S8T8TT — 122244 =

664417 — 634303 =
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